WOMZGF22: /ENL Chapter-6
EXEFEE SN [5], AT (WD [6]

AR 52

June 5, 2014



X WO GF2E G52 F7S [5], AU (X0 [6]): 1Bk Chapter-6

1 FE AR PN BAKNEA T B HBAT U BRI 2 oA h 26,
IF HAEF #1000 il 2UHI X B AR T2 A, A H 3 LT,

(a) IR NFER TR MZE N Q4 = 2600000 — 200000p, >R 7E A 315 47 s /N 32 IR A A
TR E DL N E T A5 AN
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(c) &) WM AL T2 ibA =2
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LTC =0.1¢*> —1.2¢> + 11.1q, q —ED) FHHE &,
s TR EECN Q = 6000 — 200P, Q AZATILHI AR,
(a) THE) RIS A A /N = E AN AN A
(b) AT KA = B2 15 4 45002
(c) KHIIERIRAS N ZAT L) 7 AL
(d) BanBUT e AT HSZENFATIE (BUERD 600 7K 1 /M FE AT Mk 5% 4 N £ sk /b
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= B BN M N2 /D2 (2) BN E L YF AT 2 S 2 AR, R R R N
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